
L2(27).6 (mod 2)

blocks defect matrix

2.G : 1 4 8× 2
2 4 8× 2

3 = 2 4 8× 2
4 3 8× 1
5 2 4× 1
6 2 4× 1

Block 1: ϕ1,0 ϕ2,0+

11 = χ1,0 1 .
14 = χ1,3 1 .

261 = χ2,0+ . 1
271 = χ10,0 1 1
274 = χ10,3 1 1

281 = χ17,0+ 2 1
264 = χ19,0 . 1
267 = χ19,3 . 1

ϕ1,0 = 11
ϕ2,0+ = 261

Block 2: ϕ1,1 ϕ2,1+

12 = χ1,1 1 .
15 = χ1,4 1 .

262 = χ2,1+ . 1
272 = χ10,1 1 1
275 = χ10,4 1 1

282 = χ17,1+ 2 1
265 = χ19,1 . 1
268 = χ19,4 . 1

ϕ1,1 = 12
ϕ2,1+ = 262



Block 3: ϕ1,2 ϕ2,2+

13 = χ1,2 1 .
16 = χ1,5 1 .

263 = χ2,2+ . 1
273 = χ10,2 1 1
276 = χ10,5 1 1

283 = χ17,2+ 2 1
266 = χ19,2 . 1
269 = χ19,5 . 1

ϕ1,2 = 13
ϕ2,2+ = 263

Block 4: ϕ4,0+

781 = χ4,0+ 1
782 = χ4,1+ 1
783 = χ7,0+ 1
784 = χ7,1+ 1

785 = χ20,0+ 1
786 = χ20,1+ 1
787 = χ23,0+ 1
788 = χ23,1+ 1

ϕ4,0+ = 781

Block 5: ϕ7,0+

841 = χ11,0+ 1
842 = χ11,1+ 1

845 = χ26,0+ 1
846 = χ26,1+ 1

ϕ7,0+ = 841

Block 6: ϕ10,0+

843 = χ14,0+ 1
844 = χ14,1+ 1

847 = χ29,0+ 1
848 = χ29,1+ 1

ϕ10,0+ = 842


